

Simplify:

$$\frac{2\chi^{2} + \chi - 6}{2\chi^{2} - 9\chi + 9} \cdot \frac{\chi^{2} - 2\chi - 3}{\chi^{2} - 1}$$

$$= \frac{(2\chi - 3)(\chi + 2)}{(2\chi - 3)(\chi - 3)} \cdot \frac{(\chi + 1)(\chi - 3)}{(\chi + 1)(\chi - 1)}$$

$$= \frac{\chi + 2}{\chi - 1}$$

Simplify:

$$\frac{3x^{2}-x}{6x^{2}+15x} \cdot \frac{6x^{2}+x-1}{2x^{2}-5x-25}$$

$$= \frac{3x^{2}-x}{6x^{2}+15x} \cdot \frac{2x^{2}-5x-25}{6x^{2}+x-1}$$

$$= \frac{x(3x-1)}{3x(2x+5)} \cdot \frac{(2x+5)(x-5)}{(2x+1)(2x-1)}$$

$$= \frac{x-5}{3(2x+1)}$$

Simplify
$$\frac{\chi^{2}-4\chi}{\chi^{2}+3\chi+2} + \frac{5\chi}{\chi^{2}+3\chi+2}$$

$$= \frac{\chi^{2}-4\chi}{\chi^{2}+3\chi+2} + \frac{\chi^{2}+\chi}{\chi^{2}+3\chi+2}$$

$$= \frac{\chi(\chi+1)}{(\chi+2)(\chi+1)} = \frac{\chi}{\chi+2}$$

Simplify
$$\frac{x}{x^{2}-4} - \frac{3}{x^{2}-x-2}$$

$$= \frac{x(x+1)}{(x+2)(x-2)(x+1)} - \frac{3(x+2)}{(x-2)(x+1)(x+2)}$$

$$= \frac{x(x+1) - 3(x+2)}{(x+2)(x-2)(x+1)} = \frac{x^{2}+x-3x-6}{(x+2)(x-2)(x+1)}$$

$$= \frac{x^{2}-2x-6}{(x+2)(x-2)(x+1)}$$

Simplify:
$$\frac{9}{\chi^{2}+9\chi+18} - \frac{4}{\chi+6} - \frac{3}{\chi+3}$$

$$= \frac{9}{(\chi+3)(\chi+6)} - \frac{4}{(\chi+3)} - \frac{3(\chi+6)}{(\chi+3)(\chi+6)}$$

$$= \frac{9}{(\chi+3)(\chi+6)} - \frac{9}{(\chi+3)(\chi+6)}$$

$$= \frac{9}{(\chi+3)(\chi+6)} - \frac{9}{(\chi+3)(\chi+6)}$$

$$= \frac{-7\chi-21}{(\chi+3)(\chi+6)}$$

$$= \frac{-7(\chi+3)}{(\chi+3)(\chi+6)}$$

$$= \frac{-7(\chi+3)}{(\chi+6)}$$

Simplify:

$$\frac{\chi}{\chi-2} + \frac{3}{\chi+2} - \frac{8}{\chi^2-4}$$

$$= \frac{\chi(\chi+2)}{(\chi-2)(\chi+2)} + \frac{3(\chi-2)}{(\chi+2)(\chi+2)} = \frac{\chi^2+2\chi+3\chi-6-8}{(\chi-2)(\chi+2)} = \frac{\chi^2+5\chi-14}{(\chi-2)(\chi+2)}$$

$$= \frac{(\chi+7)(\chi-2)}{(\chi-2)(\chi+2)} = \frac{\chi+7}{\chi+2}$$

Complex Fraction: It is a Straction that contains at least one Fraction.

$$\frac{4 - \frac{2}{3}}{5}, \frac{\frac{3}{5} - \frac{1}{2}}{\frac{7}{10}}, \frac{\chi - \frac{4}{\chi}}{1 - \frac{2}{\chi}}$$

$$\frac{\chi + 5}{10} - \frac{\chi}{24}$$

To Reduce/Simplify Complex Fraction,

Ofind LCD of all denominators

- @ Multiply everything by LCD.
- 3 Simplify, Simplify, and Simplify

Simplify
$$\frac{4.3 - \cancel{1} \cdot \cancel{2}}{3 - \frac{1}{2}} = \frac{12 - 2}{3}$$

 $\frac{3 - \frac{1}{2}}{4}$ $\frac{3}{4}$ $\frac{10}{3}$

Simplify
$$\frac{\chi - \frac{4}{\chi}}{1 - \frac{2}{\chi}} = \frac{\chi \cdot \chi - \chi \cdot \frac{4}{\chi}}{\chi \cdot 1 - \chi \cdot \frac{2}{\chi}} = \frac{\chi^2 - 4}{\chi - 2}$$

$$LeD = \chi$$

$$= \frac{(\chi + 2\chi \chi + 2)}{\chi - 2} = \frac{\chi + 2}{\chi - 2}$$

Simplify:
$$\frac{1 + \frac{4}{x} - \frac{5}{x^{2}}}{1 - \frac{25}{x^{2}}} = \frac{x^{2} + x^{2} + x^{2} + x^{2} + x^{2} + x^{2}}{1 \cdot x^{2} - x^{2} \cdot \frac{5}{x^{2}}}$$

$$= \frac{x^{2} + 4x - 5}{x^{2} - 25}$$

$$= \frac{(x + 5)(x - 1)}{(x + 5)(x - 5)}$$

$$= \frac{x - 1}{x - 5}$$

Simplify:
$$\frac{3}{x+2} - 4$$
 $\frac{3}{x+2} - (x+2) \cdot 4$ $\frac{2}{x+2} + 1$ $\frac{2}{x+2} + (x+2) \cdot 1$ $\frac{3}{x+2} + \frac{3}{x+2} + \frac{3}{x+2}$

Simplify:
$$\frac{6+\frac{3}{x}}{\frac{2}{4}+\frac{1}{8}} = \frac{8x \cdot 6 + 8x \cdot \frac{3}{x}}{\frac{2}{8x} \cdot \frac{x}{4} + 8x \cdot \frac{1}{8}}$$

$$= \frac{48x + 24}{2x^2 + x}$$

$$= \frac{24(2x+1)}{x(2x+1)}$$

$$= \frac{24}{x}$$

Solving Rational Equations:

- Ofind LCD & all excluded Values
- @ Multiply everything by LCD to clear all fractions.
 - 3 Solve the new equation.
 - 4) Only keep those answers that are not excluded values.

Solve $\frac{x}{2} - \frac{x-1}{3} = 1$ LCD = 6, E.V.: None $\frac{x}{8} \cdot \frac{x}{2} - 8 \cdot \frac{x-1}{3} = 6 \cdot 1$ 3x - 2(x-1) = 6 x + 2 = 6 x + 2 = 6 x = 4

Solve
$$\frac{3}{4}x = \frac{1}{2} + \frac{2}{3}x \implies \frac{3x}{4} = \frac{1}{2} + \frac{2x}{3}$$

LCD=12 E.V.: None

$$\frac{3}{4}x = \frac{3}{4}x = \frac{1}{2} + \frac{2}{3}x$$

$$9x = 6 + 8x \implies \begin{cases} 6 \\ 9x - 8x = 6 \end{cases}$$

$$2 = 6$$

Solve
$$\frac{\chi}{\chi-2} - 2 = \frac{2}{\chi-2}$$
 $\chi-2=0$
 $\chi=2$
 $\chi=2$

Solve
$$\frac{4}{x+4} + \frac{2}{x-4} = \frac{2x}{x^2-16}$$

$$L(D = (x+4)(x-4)) = E.V.: \pm 4$$

$$(x+4)(x-4) + 2(x+4) = 2x + 6x - 2x = 8$$

$$4(x-4) + 2(x+4) = 2x + 6x - 2x = 8$$

$$4x-16 + 2x + 8 = 2x$$

$$6x - 8 = 2x$$

$$\frac{x+2}{6x-2} = 8$$

$$\frac{x+2}{6x-2} = 8$$

